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Name: Date:
. Solve the following
tens ones tens ones
8 2 7 8
+ -
1 7 5 2
tens ones
6 9
3 4
II. Solve and colour
24- blue 86 - red

54- yellow 18- red



# SNS academy

58 s bl CRAL Rlager Prin Steel
Cojwbaprs

SNSacademy

8 4 9 8
6 2 1 2
3 2 1 3
+ +
2 2 0 )

lll. Solve the following

1. There are 32 apples in one basket and 36 apples in another basket. How
many apples are there in both the baskets together?

Number of apples in one basket =
Number of apples in another basket =

Total number of apples in both the baskets =

2. A tailor bought 75 buttons. He stitched 60 of them on shirts. How many
buttons are left with him now?

Number of buttons the tailor bought =
Number of buttons he stitched =

Number of buttons left with him now =



